Name: tile-compare Funktion 19.06.2020

Ohne Hintergrund

f(z)=2>+2zx+1 g(z) = x?
h(z) = 623 (z® + 2) k(z) = (3% + 5z)*
I(z) =3*x+ 78 m(z) = 3 * z/3x°

nz) =+ +22+ 2+ + 22+ 2+l 2 et e 2?2 2?4 2?

olx) =x>+2zx+1 p(z) = 22
a(z) = 627 (z® + 2) r(z) = (3% + bz)?
s(z) =3*x+ 78 t(x) =3 xx/32°

u(z) =2+ +a*+ 22+ + 2P+t + 2t + 2t + 2t + 2+ 2 2’ + 2P

v(z) =z + 2z +1 w(z) = 2°
a(z) = 6x23(x + 2) b(z) = (3% + 5z)?
c(z) =3xx+ 78 d(z) = 3 xz/3x°

e(z) =+ 2+’ +2*+2*+2* + 2 + ¥ + 2 + 2% + 2? + 2?

i(z) = z? + 2z + 1 j(z) = z?

z(z) = 6x23(x3 + 2) f(z) = (3° + 5z)°
flz) =3*z+78 f(z) =3 +z2/32°
fl)=+*+a*+2° +2° + 2’ + 2 + 2
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Name: tile-compare Funktion 19.06.2020

Mit Hintergrund

f(z)=2>+2zx+1 f(z) = z?
f(z) = 62%3(z® + 2) f(z) = (3% + 5z)3
f(z) =3*z+78 f(z) =3*z/3x°

fx)=2+ 22+ + 2+ 22+ 22+ 22+ 22+ 2 2?2?42 2?4 2?4 2P

flz) =2 +2z+1 f(z) = 22
f(z) = 62%(x3 + 2) f(z) = (3% + 5z)3
f(z) =3xx+ 78 f(z) = 3% x/3z°

f)=2>+2>+ 22+ 22+ 2> + 22 + 2 + 22 + 2* + 2% + 2% + 2° + 2% + 2°

flz) =2 +2z+1 f(z) = z?
f(z) = 622 (23 + 2) f(z) = (3% + 5z)3
f(z) =3%xz+78 f(z) =3 *x/3z"

fl)=a+2? +a2? +2? +2° +a2? + 2> + 2 + 2 + 2 + 2? + 2

f(z) =xz?+2x +1 f(z) = z?
f(z) = 62% (23 + 2) f(z) = (3° + 5z)°
flx) =3xx+ 78 f(z) =3 x2/32°

f(z) =ax®> + 2? + 2° + 2° + 2 + 2% + 2% + z*
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